ACEMATY

1. Thet-Vcharactenstics of o forword biased

P unction diode leoks like & straighe Line if one
plots

1A

(B) a ¥ versus

¥ versus [

) W oversus n f

(D) I ¥ oversus 1/ S

+

2. Seel is more elastic than rubber because

(A} elastic limit of steel is higher than that
of rubbes

(B) Young's moduolus of steel is higher
than that of rubber

{C) density of steel is higher than that of
rubrber

(D} rigecity or bulk modulus of steel s
higher than thai of rubber

Y Who iz the Secretary General of United
Mationg?
(A1 Ana Maria Menéndez
(B) Maria Luiza Ribeiro Vioti
(C) Aming 1. Mohammed
(DY Antonio Gulemes

Select the appropriate word from the given
oplions.

4. 1 took an aspirin to

in my knee,
(Al

(B}

{C}

i

the pain

cile
deviae
alleviaie
plagiarise

5. Which state celebrated the Pooram festival?
(A) Kerala
(B) Karnataka
{C) Wes: Bengal
(0 Andhra Pradesh

A-2

6. What was the last position served by
Arun Jaitley before taking retirement from his
political career citing his health issues?

(A} External Affairs Mimster
(Bl Home Affairs Minister
(L) Fimance Minister

(D) Defence Mimster

7. A particle of unit mass is acted upon by a

Il the
particle is at rest at £ = 0, its velocity will again be
BETD al

time-dependent force Fii)= 3 —2°

-
{A) = 3
(Bl r=1

i
) r=3
R
iy i

H. Where will the Incliz’s first underwater
irmn propect 15 set to launch?
(A} kolkata, West Bengal
(B} Varanasi, Uar Pradesh
(C) Guwahati, Assim
(D Mumbai, Maharashira

9. Avarinhle resistance R is connected across
a fixed voltage supply V. The plot of B versus beat
generated perunit time in the resistance looks like
{A) a ‘\.[rili_llh! line
(B} arectangular hyperbola
(C) a paraboly
(¥ exponentially falling

10. How many members of Rajya Sabha are
romimiied by President of India?
[A) 2
(B} 10
(cr 12
(DY) 15




11, SubrotoCupis associated with which sport?
i(A) Cricket
(B Foothall
(C) Chess
(D Tenms

Select the appropriate word from the given
aptions.
12. I need more exomples © support my
that the college needs more parking
spaces,
{A) contention
{B) modulation
(C) execulion
(D diction

13. Folk pointing ‘Madhubani® s famous in
which stafe?

(A) Rajasthan

(B) Madhya Pradesh
(C) Odisha

(D) Bihar

14, The form of a potential is

Vix)= —%rl + %:‘. A particle moving in this

potentiil has
{A) stable equilibrium at x = {}, unstable
cquilibnast x= £ 1.
(B unstable equilibrivm at x = (), stable
equilibria al x = £ |,
(C) stable equilibrium at x = (), unstable
equilibria st x = £+

(D) unstable equilibeiaatx=0,x= =2 ,
stable equilibna sl r = £ 1,

ACLM/TY

15 In which vear Protection of Women from
Domestic Violence Act came imo force?
(A 2004
(B 206
() 20618
(0 200

16. Where was the G20 (Group of 20) Summat
2004 held?

(A) Rivadh, Saondi Arabia
(B) Buenos Aires, Argentina
i) Osaka, Japan

(D) Beijing, China

From the options select the word
furthest in meaning to the given word.

17. Salubrious
(A1 Vigorous
(B) Owerwhelmed
iC) Rustic
(D) Miasmic

1B. The wovelength of the sodium D-lines is
approximately 589 nm. The same fine is scen at
595 nm in the light coming from a certain galaxy.
If ¢ 35 the velocity of light in vacuum, the galaxy
L}
(A) moving rowards us with a velocity of
approximately 10
(B) moving towards us with a velocity of
approximately 107
() moving away from us with a velocity
of approximately 10~
(D) moving away from us with a velocity
of approximately 1072

19. Twovectors C=A + Band D= A = Bare
perpendicul ar to eachother, Which of the following
statements must be trug?

{A) A must be perpendicular to 8.

(B) A= kB where k is some consiant
iC) A and B must have the same length.
(D Eiher A or & must be o noll vector,

Please Turn Over
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20 The eleciric field associated with an

clectiromaghetic  wave s given by

E = gl by — mi I_;: The wave is
(A} polarised along x
(B) polarised along v
(il pelarised along 7
(¥ unpolsrised.

21. Where is the headquarters of International
Crcket Council {(ICC) located?
{A) Jakara, Indonesia
(B} Pans, France
(C) Washington D.C.. U.5.
{12 Dubai, LTAE

21, The binding energy of the electron at the
ground state of the hydrogen atom is -136 eV,
The binding energy of the electron of He* atm =2
1%

(A) —F4eV¥

iB) -136eV
(C) -21-2eV
(D =544V

23. Who won Men's singles title in 2019
Wimbledon Championships?
(A} Novak Dyokovic
(B} Boger Federer
(C) Juan Sehastiin Cabul
(¥ MNicolas Makin

4. Where is the headguarters of European
Union (ELY Commission locaed?
(A) Damascus, Syria
{B) Brussels, Belgium
(C) Berlin, Germany
(D) Ankara, Turkey

5. Three point charges —g, +og, and —g are
placed at three corners of asquare, (1, 0, (0, 0) and
(0, | yrespectively. If an unit charge is in equilibrivm
at (1, 1}, the value of o is

(A) 2

-

(B) 2.2
{Cj 4
(D} a4t

[ |

26. The plates of a parallel-plate capacitor of
capacitance C are initally at a potential difference
¥y, Itis then charged sothat the potential difference
growsto ¥a. The change in electrostatic potential
energy of the capacitor is

| [ , il
|:H'| .'.lt- II I"_l "||
P T, '
(C) €K~V ]

(b Cy ¥,

IT. A bicomvex lens has a radius of curvature
K = EKlem for both the surfaces. At what distance
fromm the '-!'|1|-It'il| cenlre one should i:llili'l.' an :'-h_'||:-|_'|_
o obtain a real image of the same size’

(A) 2 cm
(B 40cm
i) Bhem
(D) 16 e

I8, The half-life of o radioactive element 1s 20 5
It iz Found that ot = B0 5, there are N ptoms of that
clement in a sample. Atr=10, the number of atoms
of that element in the sample is approximately

(A) 4N

By &

iCh BN 2
(O 16N




1T - L
29, The refractive index of water 13 3 Fora

light beam coming from wiater (o air, the minimum
angle of incidente for which total internal reflection
OCCUrS 15

. -1]3
(A} §in rlﬁl

(H) lan I (:—]
o =)

(D) sin”' H:l

30. The coeflicient of linear expansion of a
solid &5 o, If at temperature Ty, the deasity of the
solid be po, the density at temperature 4T3 is
approximatsiy

[A) pc,nil—ul""}
(B} pyll-3al,)

(C) ppil+aly)

(i F'-u[]*%uru]

31. Two black bodies, one at tlemperature 2T
and another ar temperature 3T, are Kept in two
thermally isolated evacunted chambers, both at
temperature T, The ratio of the rate of heat loss is

[A)

Foad | o

e

(B

=

i)

=]
—h

([

|

ACLM/19

32. Where is the headquarters of Asian
Drevelopment Bank Iocated?

(A) Geneva, Switzerland

(B) Washington D.C., U.S.

(C) Mandaluyong, Manila. Philippines
(D) New York, U.S.

33, The Ffamous book ‘Anandamath’ was
authored by

(A} Sarojini Naidu

(B} Bankim Chandra Chattopadhyay
(C) Sri Aurobinde Ghosh

(D} Rabindranath Tagore

From the options select the word
furthest in meaning to the given word.

M. Retwlation
(A Breakdown
(B} Reconciliation
{C) Cantion
(D} Rejection

A5, An intnnsic semiconductor s

{A) an ohmic conductor, resistance
increases with temperatire.

(B) an ohmic conductor, resisignce
decreases with lemperature,

(C) a non-ochmic conductor, resistance
increases with temperature,

(D} o non-ohmie condoctor, resistance
decreases with iemperature.

A6, Name the military personnel, whp was
awarded with the Vir Chakra 2009 on
Independence day 2019,

{A) Maheshkomar Bhure
(B) Ajveer Singh Chauhan
(C1 Abhinandan Varthaman
(¥ Amit Singh Rana

Plesse Turn Owver
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§7. Which country is set to host the Fonthall
Astan Cup 20237
{A) Russin
(B) Indiz
(C) China
(D) Malaysis

J8. The mass of a body is 100 pm and s
density is 2-5 gmec. Ifplaced ina liguid of density
2 gmee, the body will sink with an acceleration

{A) 2o

||3_| 5_'."'1'
(C) g3
(D Jgf5

38, Two planeis A and B go around their star §
i circular orbits, The distance between 5 and B is
eight times that between § and A. One yvear of / is

{A) 4 yvears of A

(B) l—l- year of A

(C) 247 yearsof A

(I¥ B yenrs of A

. The amendment of the constitution can be
initiated in which of the ||_L||-;'|'.'.'||'|F'_'
(A} Lok Sahha only
(B R..'Ij‘:'_'.'.J Sahha -:1r||_l,
(C)] Anv House of the Parliament
(D Assembly of a state

41, Who is the Minster of Ratlways of India?
(A} Amit Shah
{B) |-"'i_=.'||.:n.|‘| l:__pu:. il
{C} Raj Nath Singh
(I}) Mitin Jairam Gadkari

4L The band gup of a typical intrinsic
semiconductor 15 of the order of
(A rdg
(B) 10r™]

Wy 10t
(D) 10

i

43. Contminer A of volurme 2V containg an ideal
gas il pressure P and temperature T, Container 8
of volume V contains the same Z05 a1 pressune
and temperature 27 When the two containers are
Joined so that the gases mix, the final remperature.
BESUMING Mo heat boss, will be

Fid

(B

(i

(L)

4, Where was the 45th G7 Summit for the year
2019 held?
(A1 Rome, E!:_ﬁ:.
(B) Berhn, Germany
IE'I [ Miawg, Canada
([3) Biwritz, France

45. The temperature of a body drops from 2100 K
to SO0 K 1n 60 5, I the room temperature is 300 K,
the tme taken for the body 1o cool from 900 K o
LI B ]l e

(A) 155
(B) 30s
() 6l s
(LY} 1Mhs

46. Who appoints the Chief Election
Commissioner of India?

(&) Prime Minister

(B} Election Commission

() Presidemn

(I Council of Minisers




47. Consider earth to be a solid sphere of
uniform densaty. I it radius decreases by 1%
keeping its mass constant, how shouold the
acceleration due 1o gravity g change at the swrface
of the earth?

{A) g decreases by approximately 1%
(B) g decreases by approximately 2%.
iC) g increases by approximately 2%.
(D) g increases by approximately 1%.

48. The first woman 1o climb Mount Everest
LAY
{A) Marie Jose Perec
(B} Florence Grifth Jovner
(C) Jackie Joyner Kersee
() Junko Tabei

49, The Promulgation of an ordinance by an
President is done
(A} when President fesls that ordinance
should be promulgated (on discretion).
(B} when Suopreme Court advises the
President.
{C) when Council of Ministers sdvises
President.
(D) when any house of the parliament
pisses a resolution.

&0, Who sworn in as the first full time female
Finance Mintster of India on 315t May, 20197

(A) Nirmala Sitharaman
(B) Smriti Zubin lrani
{C) Debasres Chaudhur
(D) Renuka Singh Saruta

51. The radioactive nuckeus | Na© decays 1o
wNe™ . One of the particles emitted during the
decay is

(A1 an electron
(B) a positron
(C) o prolon
(I} 2 newinn

ACLM/1S

52. A mud ball of mass 9% em and moving with
a velocity v hits another small mud ball of mass
lgm nt rest, After collision the two mud balls stick
together. The fractional loss of kinetic energy is
(A) 111%
(B) ¥9%
iCy 1%

D} Joog

5}, Eanh's atmosphere can support 76 em of
mercury solumn, IF the astmospheric pressure @
the sea level becomes 01 atmosphere, and the
acceleration due 0 gravity becomes gf2 from g,
the supported mercury column will have a
maximum length of

[A) 152 cm
{(B) 15-2cm
(C) 76 cm
() 380 cm

54, Three point masses are places on the -y
plane as: me at (0.0} 2moat (3.0); 3m o (0.2). The
centre of mass will be at

w (33

32
(B) fi-i]
(i) [I-%

(D) (L1]

55. Silemt Valley National Park located in which
sgate’
(A} Karanataka
(B} Kerala
(C) Mauaharashira
(3} Andhra Pradesh

Please Tarn Ower
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56, Who is the author of the book 'My
Expernments with Truth"?

(A Moehatma Gandhi
(B Michael Anderson
(L) Winston Chirchill
(D} Jarnes Morris

57. Which country will host the G20 Summit
20207
(A} Japan
(B} Italy
{C) France
(D) Sauds Arahia

58, A pownt-like bob of mass 20 Em 15
performing 4 simple harmonic motion whose

el [
equation is ¥ = 10sin{ 1007 + 73 "'il' [ts maxinmum

kinetic energy 1s
(A} 1)
(B) 2]

(C) 1/[4n" )

05

Y. What does the term PC mean?
(A) Professional Computer
iB) Personal Computer
(] Private Computer
(M) Personal Calculator

o, Let the mdius of the first Bobir orbit be &l
The de Broglie wavelengih of the electron in the
ground stxie of the hydrogen atom s

(Al dg
(B) may
() 2

(D :'.:.--,.I':

A-H

61, Cyclone Fani hits Odisha and West Bengal
recently. which country has sugpested the name
‘Fanit’Y

(A) Maldives
(B} Myanmar
(C) Oman

(¥ Bangladesh

62. Thedimension of fic, where fris the Planck's
constant and « is the velocity of light in vacuum,
i that of

(A force x length
(H) energy x length
{C) energy x time

(L) force x linear momentum

63, Two spherical plantes A and B are made of
the same material and have uniform density. The
surface gravity of A 1s twice that of B. The ratio of
the mass of A and the mass of B is

(A) B:]
By 2:1

iC) 1-2.2

64. A region in space conlains an electric field
and & magnetic field, both from negative =
pasitive : direction, If an electron, moving along
the r-axis from negative (o poditive 7, enters the
region, 1f will travel in

(A} a parabols
iB) a spiral

C) acircle

(DY wstraight line



——
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65, A circular loop of wire has an equivalent
resistance of K when current enters and éxits the
loop through the end points of o diameter. If the

loop 15 cut and made into a straaght wire, s
resistance will be

{A) 2R
(B) B

(C) 4R
(D) R2

&6, Who won the contest for the British Prime
Minister (PM) in 20197
(A} Harold Wilzon
(B} Bors de Pleffel Johnson
(C) Gordon Brown
(D Margaret Thatcher

67. The ratio of inductance L and resistance R
has a dimension of

(A) s~
(B} &

(Cy &
Dy s

68. A particle starts with some nonzero initial
velocity and moves under steady deceleration till
it comes i rest. The wvelocity versus distance
traversed plot will be

{A) o parabola,

(B} arectangular hyperbola,

{C) a straight line with a positive slope.
(D} & stranght line with a negative slope.

6, The first Indian Mathematician whotreated
Mathematics as a different discipline?
(A1 Yarshmihira
(B} Aryabhatta
") Ramanujan
(1) Baudhayan

ACLM/T?

T0. A oniform solid sphere of mass M and
radius Risrotating sbout its diameter with angular
velocity . If it suddenly shnnks to radius B2
kecping its mass unchanged, the angular velocity
will be

(A) 30
':B'] -..'rI.r.n
iIC) 2w
(D) 4

71, Saraswan Samman 15 given annually for
outstanding contrbution to which field?
(A) Dance
(B} Classical Music
(T} Litersture
(D} Painting

T2, A source of sound is emitting a fixed
frequency v. You are moving around 16 in a circle
with uniform speed. To you, the frequency will
appear to be

(A equal to v,

{B} more than s

{C}h less than v,

(D} either more or less than v, depending
on which way you move.

73. Thede Borglic wavelengthof a ball of mass
01 kg moving with a velocity of 30 m's is about
(A} 107" m
(B) 107" m
(C) 10 m
(D 10" m

T4, Where is the headguarters of Workd Bank
located?

(A1 Vienna, Ausirio

(B} Puns, France

(C) Washington D.C., United States
(D) Geneva, Switzerland

Please Tarn Over
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75 A steel ball of mass 1kg falls verically on
8 soft mattress from 3 height of 20 m and comes (0
rest i (5 5. What is the average force on the
mattress? (Take g=10m/s" and the initial
velocity of the ball to be zero.)
(A) 40N
{B) ION
(C) 3N

Dy MON

76. Six capacitors each of capacitunce C are
connecied to form a hexagon (see figure), The
ritio of the equivalent capacitances Cpyg @ Cpgis

T

(A 322

(B} 5:4 —E/ Jﬂ
) 76 ‘(v)\
(D) %X Q

77. A ball is thrown vertically upwards from
the pround with a velocity v, Atahighth shove the
ground, its peeatial energy is found to the pwice
Its Kinetic energy there. [f the upwand velocity m
that height be vy, vy 15 equal 10 (neglecting ail
resistance]

{A] J3

(B ﬁ_;

78. Which planet looks reddish in the night
sky
(A Pluto
(B) Earh
{C) Satum
(D) Mars

A-10

Choose the option that best expresses the
meaning of the given idiom/phrase.

79, Those were only crocodile tears,
(A} Pretended sadmess
(B} A weeping sign
(C) Genoine regred
(D) Very gloomy

B0. Where is the country’s largest brackish
water lagoon, Chilika fake located?
{A) Miuharashira
(B) COdisha
iC) West Bengal
() Assam

§1. Faint bloe light and bright red light fall on
the same metal and they both eject photoelectrons,
Which of the following is true?

(A} Faint blue ight ejects less number of
electrons but with more avernge
Kinetic energy.,

(B} Fuint blue light &jects more number
of electrons but with less average
kinetic energy

(C) Fiint blue light ejects’ more number
of electrons and with more average
kinetic energy.

(D) Funt blue light gjects less number of
electrons and with less avernge kinetic

ETHCTEY.

82, The wvelocity of sound in air is 330 mi A
tube of length 55 ¢cm and open at both ends is
producing the first hurmonic, The frequency is

(A} N Hz
(H) 450 Hz
(Ch 600 He
{D} 750 Hz




A-l1

| 1
83, Two waves, given by % = 3'“"{'““’ x E“}

and .ﬁ:lhlh‘“flll."—%ﬂ..l superpose and form

interference pattem. The ratio of the maximum
und minimum mtensities will be

{A) 9:4
By 5:1
iy 31
(D 25 1

Choose the option that best expresses the
meaning of the given idiom/phrase.

84. Theirattemptiogetback the stolen necklace
wis 8 wild goose chase.
(A) Wise decision
(B) Useless search
(C) Timely action
(DM Delayed action

85, The origin of frictional force is
{A) only gravitational
(B} only nuclear
{C) only electromagnetic
(D} both gravitational and electromagnetic

86, Two posifive point charges +g and 44 are
separated by a distance 4. s dipole moment is
CA) rero,
(B undefined.

(C) gd and is independent of the choice of
the origin.

(¥} nonzero but depends on the choice of
the origin.

ACLM/T?

From the given options, select the word
nearest in meaning to the given word.

B7. Vital
{A) Febuke
(B) Emerge
(71 Essential
(D} Demean

88, Where is the Lord's Cricket Grouand
Iocated?
iA) Washington D.C., ULS.
(B) Paris, France
{C) London, England
([} Geneva, Switzrerland

£9. What type of Party System has been
evolved in India?
{A) Single Party System
(B} Bi-parly System
{Ch Multiparty System
(D) Triparcy Svatem

. Which team won the 1 2th edition of Indian
Premier League or [PL 20097
{A) Chennai Super Kings
(B} Mumbai Indians
iC1 Delhi Capitals
(D} Sunnsers Hyderabad

Please Turn Over
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91, Komalika Barl, who is in news recently is
associated with which spon?

(A) Archery
(83} Fencing
(C) Badminton
(D Shooting

91, The magnetic flux P linked with a
copducting loop waries with time as
D) Hlogs—1}ior £ =0, The mduced electnic

field 15 proportiionzl to

A} logt—r
(B log ¢
{C) (t—1plog r—1)

(D rlogt

93. Who was the President of the Constituen
Assembly !
(A} Dr. Rajendra Prazad
(B} B.R. Ambedkar
(C) Vallabbhai Patel
(D} Sarvepalli Radhakrishnan

M. GirForest Natonal Park s located in which
slafe?
(A) Maharashtra
(B) Cujarmt
(C) West Bengal
(D) Kerala

A-12

From the options select the word

furthest in meaning to the given word.,
95, Insolence
(A) Futuristic
(B)] Respectiulness
(C) Tolerance
(LY Aptiude

#6. Onecan produce a stable heavy nucleus by
fusing lighter nucler, This process cinnol g6 beyond
(A) 3gCa™
(B} 4-PH*™™
(C) pfn™
(D} Fe™

97. If there is no damping, the position versos
velocity plot for a simple harmonic oscillator is
(A} astraight ling
(B} arectongle
(C) an ellipse
(0¥ a spiral

98. A wire of length L is hanging verically.
When o mass M is anached o the free end, the
length of the wire increases by an amoont /. The
elastic poiential energy stored i the wire is

(A Mgl

By =Mgpl

Tl |

(0 Mel® L

(D) Mel* N2L)




Select the appropriate word from the given
optinns.

99, | put my art projects in my to
keep them from getting rumed when [ take them to
chass,

{A) encrypt
(B) carcinogen
(C) prerogative
(3 porifolio

A-13 ACLM/19

From the given options, select the word
nearest in meaning to the given word.

1. Visionory
{A) ldealistic
(B) Burdensome
(C) Unromantic
(¥ Practcal




